ECE 540 – Antenna Engineering
W04 – DRV

Homework Set 4 – Due Friday, Jan 23
1. A. Obtain an expression for E() due to a linear array of four identical, isotropic, in-phase, point sources aligned along the z-axis and spaced a distance apart of d=5/8.

B. Plot the normalized power pattern in polar coordinates..

C. Repeat parts A and B with the amplitudes of the elements changed so that the amplitude of sources correspond to the coefficients of the binomial series (a+b)3.
2. Problem 7-6-2 of textbook.

3. Problem 8-3-4 of textbook. 

4. Consider a shortened monopole antenna to be mounted on a car top and excited with a coaxial transmission line. The antenna is operated in the CB frequency band (27 MHz) is comprised of a 3 foot long plastic supporting rod (assume it has permittivity of free space) wrapped uniformly spaced thin wire of length L=/4 to form a helix. Calculate and plot the power pattern of this antenna-car radiator.
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